Employability Skill / TSI Sierer

ITI 15t Year, Common For All Trade
Module: Occupational safety (English/ fg€})

1. ABC of first aid stands for

grfae Rifhcar &1 T & v g
A Airway, Bleeding and Circulation aqﬂw‘r
e 3R aRE=RoT

B Airway, Breathing and Circulation T3d, 23
IR aiE@Ror

C Airway, Bleeding and Compression arg#T,
g AR gdse

D Airway, Breathing and Compression T3Rd,
@M 3R wdse

2 At what decibels, sound becomes hazardous
noise pollution?

e sfiee W eafd TR eafd Jeuor o STl
X

A. Above 30 30 & 3R

B Above 80 80. & 3W

C Above 100 100 & 3R

D Above 120 120. & 3R

3 Earthquake is measured with an instrument
called
T T
3

A. telegraph Celldam®

B seismograph T&TAET®
C oscillograph 3iif@aams
D bar graph IR aI%h

ATHS 3YHIOT F ATIT SATAT

4 Head protection is done through

f&v & gam & HATEIH § Hr S g
A helmet goldc

B goggles el TeH

C gloves g&dmt

D mask #Hglter

Solutions and Explanation on
YouTube Channel

5 In firefighting method ‘Starvation’ is
JfaeAS Ggfd # HEAr 3
A. limitation of oxygen 3ffar&TeteT I H&T
B pouring water 9Tl STefeAT

C elimination of fuel $¢e &T 3eaelel

D reduction of temperature dTq#TT H HAT

6 On the job injuries and illness, cost money
time & effort. What is the most practical way to
manage these losses?

sl 9 el AR AR W), SET gAY 3R 93
T4 BT § 3 JHAE B YT H F qOH
TGRS T T 872

A Make sure safety is part of labor contracts
AT Y o GR&T 4H efael 1 gear §

B Aggressive claims handling 3shiaeh grar &
IGREGI

C Goods insurance coverage #HTel SIAT Fhalel
D Effective safety and loss control program

T FR&T AR gifed =0T Srdishe

7 Ozone layer is made up of

ST R q &t g

A. one oxygen atom Teh 3ifereiolel TRATI]
B two oxygen atoms & 3fieFlstel TRATI]

C three oxygen atoms cfiel 3ifereiiofel GRATI]
D four oxygen atoms TR 3iferefisfel TRATI]

Ans Key 1-B, 2-B, 3-B, 4-A, 5-C, 6-D, 7-C,

Open Mind Guruji
For More Updates


https://www.youtube.com/channel/UCn_aj5_jQMljFkinDY4nt8g
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8 The reprocessing of discarded materials into 11 Vibration and radiation comes under

new useful products is called Fa 3R fafeor & AT AT &

SR HHEAT HT AT 3UGEN 3cdrel #H GeAaree A chemical hazards ™ X
FEATT g B physical hazards amiR&® @R

A. reuse of waste material 39fRISC AHAY FI IeT: | C electrical hazards fSsTell & TR

39T D psychological hazards #HalaaTlae TaX

B recycling of material HHIY T JeA<ishor
C management of solid waste 3 &Y & Jae« | 12 Which one is a man induced hazards?
D reduction in use of raw material T AT & | AT IRT GART HiT AT &7

39T H HaAT A Landslide Fg@elet

B Cyclone dshard

9 The study of living things in relation to their C Volcano ﬁTT»l‘Dg’@T

environment is called ... D Earth quake mﬁcr
Follal I 3oTch GATGROT & TEY H IFEITeA ...
FHgeTdl gl 13 Which one is a non-renewable energy
A. ecosystem TIRTEATIRT dF resource?
B economics 3TMET PIA-IT Teh IR-AdONT Fail AT §?
C ecology urRf&ufadhr A Solar @k
D eclogue T&allaT B Coal &iger
C Methane #Hrdst
10 The three R’s to save environment are D Hydroelectric gi8gigalides
JATGOT &) 99T o T e 3R & e 14 which one is an unsafe condition for work?
A. Reserve, Reduce, Recycle Red, 334, wIA & fow Sl @ Rfera Fufa g2
Tareer A Oily floor 3Tl FaRX
B Reuse, Reserve, Reduce 9t 3uaner, Rea, 8 | B Good light 37<aT ehrer
AL C Proper tools 3fad 3uaor
C Reserve, Reuse, Reduce Reid, qeT: 393, D Adequate ventilation gaica dfeererst
FH FL
D Reduce, Recycle, Reuse &H &Y, JATIF Y,
Qel: 39T Y

Ans Key 8-B, 9-C, 10-D, 11-B, 12-A, 13-B, 14-A,

Solutions and Explanation on Open Mind Guruji
YouTube Channel For More Updates


https://www.youtube.com/channel/UCn_aj5_jQMljFkinDY4nt8g
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15 which one is an unsafe condition for work?
A & fow i @ e fufa 82

A Good light 38T 2=l

B Proper tools 3fad 39T

C Adequate ventilation TaTed dfeaersT

D

16 Which one is the main greenhouse gas
responsible for global warming?

Tolleel arfder & fov fSFAer geg Aeesa A9
it &Y 87

A Hydrogen grssrelel

B Oxygen 3iTadistel

C Nitrogen =ITSciStel

D Carbon dioxide e SB3{TFATSS

17 Which one of the following is NOT an
ergonomic hazard?

faafof@a & @ *ia e wifEas TaT 87 872
A Awkward position 3rsite fEafa

B Poor housekeeping Ii& gr3q<hifder

C Emotional disturbances $iiddlcAs IISear

D Wrong layout of machinery #Rf\eil &T el
33T

18 Which one of the following is not part of 3
R’s?

fAraAfaf@a & @ Fied 3 R T 197 AT 872

A Reduce 5

B Recycle Jramaehel

C Regenerate R&eRe

D Reuse {gst

Ans Key 15-A, 16-D, 17-C, 18-C

Solutions and Explanation on Open Mind Guruji
YouTube Channel For More Updates


https://www.youtube.com/channel/UCn_aj5_jQMljFkinDY4nt8g

